Screen Media

4400032 Bolt 3/4" X 5“ NC Shaker GR.8
4400061 Bolt 5/8" X 4 1/2“ NC Shaker GR.8
4400065 Bolt 5/8" X 5“ NC Shaker GR.8
4400232 Nut 3/4" NC GR 8
4400374 Nut HD HEX 5/8" NC (2H)
4400354 Washer Swivel 3/4"
4400097 Washer Swivel 5/8" #BWO010
4400057 Rectangle Aligning Washer 5/8"
4400184 Tee Bolt 5/8"x4" NC
4400465 J - Bolt 1/2"x6" NC
4400466 J-Bolt 1/2"x8" NC
4400066 J - Bolt 5/8"x6" NC
4400084 J - Bolt 5/8"x7" NC
4400067 J-Bolt 5/8"x8" NC
4400186 Tension Bolt 3/4"x 5.5"
4750250 Wedge

4550125 Rubber Channel 3/8 Heavy Duty
4550135 Rubber Channel Deep Grove
4750916 Urethane channel rail liner 3/8” x48”
4752465 Urethane Channel Rail Liner HD 3/8"x48”
4750001 4' Elrus Clamp Bar
4559173 4’ Elrus Urethane Clamp Bar
4750285 4' Eljay Clamp Bar
4559177 4’ Eljay Urethane Clamp Bar
4750004 5' Elrus Clamp Bar
4750015 5' Eljay Clamp Bar
4750006 6' Elrus Clamp Bar
4750007 7' Elrus Clamp Bar
4750012 8' Elrus Clamp Bar

s X
CONNEFC’AT”agﬁ www.elrus.com e info@elrus.com
e ——————
Vancouver Calgary Edmonton Saskatoon Winnipeg Cambridge

877-788-8499 888-535-7877 877-484-3203 855-668-0890 855-588-5588 866-795-1188



